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1. Write the equation of a circle with a center at the point (-1, 6) and passes through the point (2, -4).
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2. Does a circle with the center at {4, 1) and a radius of 8 pass through the point (-3, -3)? Justify your
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3. In circle M m£BMC = 40 and m«CMD = 90 and AC and BE are diameters. Find the measure

of the following.
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4. Find the perimeter of the triangle. Segments that appear to be tangent are tangent.
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5.  Finding Segment Lengths AB and AD are tangent to OC.
Find the value of x.
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6.  Finding the Radius of a Circle AB is tangent to OC. Find the
value of r.
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Find the value of each variable.
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10.

Find each length or measure.
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11. 1. Find the length of arc AR
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13. Find the area of the segment.
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12. Find the area of the sector.
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1. Find the missing angle measures.

{5 and }; are tangents to circle Q
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2. In the figure, BT and BP are tangents to the circle. Find the values of x, y, and z.
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3. In the figure, AC and AS are tangent to the circle. Find the values of x, y, and z.
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Find the value of x.
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27) Find the value of x.
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